R}

RRBIFEFEAR (L) FRAF

ERmEEE MH-C MH-C2 Vert-X 37E - 24V / 4 - 20mA
BB K R
NEAETE ° 0...360 0...360 ol A4

3T 4% 1 (AR A) % of meas. range  +0.3 +0.3 BRI

WY LMEREENE L@ 360°) % of meas. range 0.5 +0.5 ol A4

B AR ° 0.1 0.1 HHRARER
SR bit 12 14

SAAEEM o 0.1 0.1 FmER Y
PR 2 SRR R kHz (5) @) S SR 1IP68
18 3 8 = ST A R kHz 1.66 05 FRARRL
BB 18 R G 42 MR bs (800) (800) SRR RS E
1BRER RS IBER Hs 4600 2500 Egi;‘l’]g
WHESRORERY ppm/K 100 100 & & e SR R
MTTFd/MTBF years 185/ 185 147 /1 147 (}EE, }EE\,, méﬁ,ﬁﬂ]%)
e s E vDC 16 ... 35 16 ... 35 B A e A S 1 4
FHRRBRAFE(yp.) REMK mA (19) (20) EABH
THEAH BRI (typ.) FEERX mA 14 15

i B /N PR T B kOhm 0..05 0..0.5 = R4S MH-C
MESRABEAE nF 100 100 245 12bit
BRI R FBR T yes yes TEAR

o ] B 5 Wires (3x) Wires (3x) tEMH-C2 EE R
BIRSSEEE mm2 0.56 (AWG20) 0.56 (AWG20)

RE B ERE Cable 3pole Cable 3pole RS MH-C2
PIESBREE mm?2 0.56 (AWG20) 0.56 (AWG20) 7 PR 14bit

s yes no ZB| A, BEss 7 1 A A B 3%
B B REE TR Wires (6x) TE /R 42 (R i)
BREKBEEBE TR mm? 0.56 (AWG20)

ROBSEE TR Cable 6pole

BESEREE TR mm?2 0.25 (AWG24)

TS B

W ATE ° 360 (continuous) 360 (continuous)

Fr e &5 IP68 IP68

B/NE® movements no limitation no limitation

ITHEANEFRE © -40 ... +85 -40 ... +85

IEC 68-2-6 #X31 (Amax =0.75mm, f=5... 2000 Hz) g 50 50

IEC 68-2-27 A g 200 200

HEmA

EN 55022 class B, Emission radiated (30... 230 MHz) dB(uV/m) max. 30 max. 30

EN 55022 class B, Emission radiated (230...1000MHz) dB(uV/m) max. 37 max. 37

EN 61000-4-2, ESD (contact discharge / air discharge) kv +4 /8 4 /18

EN 61000-4-3, Immission HF radiated (80... 1000 MHz) Vim 30 30

EN 61000-4-4, Burst (on all lines) kV +1 +1

EN 61000-4-5, Surge (lines to ground) kV +1 +1

EN 61000-4-6, Immission HF conducted (0.15...80MHz) Vemk 10 10

EN 61000-4-8, Immission magnetic field (50Hz) A/m 30 30

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20 20

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) KV 1 1

CONIELEC

A company of the Siedle-Group
18017427003

BEREEFEAR (E¥F) AFRAT TEL:400-800-5927 5k L.

www.tifu-auto.com



AW

RREEEAR (L) FRAF

R
IE [ BB CWATR A1 B S 4 /)
IE % E CCWH %2 3 A% 448 4pole
TUR, EBBEE CWATi£3 5 470k 4245 3pole
TR, Ef#E CCWH k4 7 Ak 448 5pole / 6pole
TR, RRXEH ML LS o Wik HHRBBIEH LY
E BB E CW 5 138 FF 5< i AT EA
EEBE CCW #1357 %1 H A48 N
ERRE CW #2857 X8 1 AHC o 2ol
E B4 E CCW %28 7F 3 f " T3£D o Tk B aH 6zo|e
s A P AEE TRE o itk K BHE K 24
B R BERE T A FRE A EF
R 0 HE 3 75 [8) T AR E Wi G R
I8 AR ST S 8 TR T H ﬁﬁfﬁmm
T 47 #2Vert-X EasyAdapt®l i&EP 03 Wik 300m
05 #7f 50cm
wHES 99 Wik BHKE
4mA ... 20mA Standard 5
BHEKE
02 #7f 1.0m
06 ®i% 3.0m
e BEE 10 ik 5.0m
24VDC Standard 1 99 ik HHKE
Vert-X 3 7 E 4 7 3 6 1 5 1 5 0 5
BEEA
364R AR HE360°
xXA[ 03 to 35; Declaration in 10° steps
QT HRB A
EREBERE
7 MH-C
8 MH-C2
AL 4 R A
37E1 Wik AR L% size 13 ; Bt 31T 4 Mtype 1
37E2 kAR R Esize 13 ; W R ITHAGtype 2
37E4 FRAERIIR R Esize 13 ; BMEHITHLA type 4
37E9 ik 45 PRI SRR AT
MH-C MH-C2
1T R AT LA X X
TSR X X
17l 88,45/ 4 4% X X
PRI AR KA R X X
FFRIPEETTL (max. 2) X X
BRI - X
PR B SEEA EE30° to 360° (AW I P p
AR A THE (R - X
BIBERMEL RANRE (FI L L) X
HE¥: 5 MCW/CCW AR E / Al fmiE (AL L R 4F) - X
- X

FRE|RARE AT RE (FNLE R

n‘;-
=
Ic

Vert-X 37E - 24V / 4 - 20mA
PRk ]

FF % i
BEML—IMERF(H®AK 127), £
B A 7T B Rk

ik (REEFER)

CONIELEC

A company of the Siedle-Group

BREEEAR (L8) BRAT TEL:400-800-5927 5K T.: 18017427003

www.tifu-auto.com



AW |

RERBIEEAR (L) FRAF

*
| :

Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx
B (incl.)
Finbaumass Ttz IxEERTF
‘ = - - 2x RS EL S IR 4 M5x12
working position 16
M5 - TAELE(Z) F REMERITALG
- 21, 3 B K A 8
- ™~ e SEREER
\ —H+ 18
= T
Lo O‘?‘ :— ajl - i
- 5 U= 1 <
S| o % | s =
| 7 HAn O \
e v
™ HUNIN
j 4 H
||| #5Tiefe 5 12
$ 26 19,4
Vert-X 37E4 xxx xxx 4xx
Vert-X 37E4 xxx xxx 6xx
B (incl.)
Finbaumass 7 +dz 1x BERF
WERE BELT 168 - g 2x T R LS IR 4 M5x12
SW 13 g R 1,6
et THEMEZ) M BERTIG
21, 8 B R R
P I - B 16 - SELREER
x s
A 1T
0 -1 “CHH - -
= T
sl w25 [|llotE '
LA HUERITE 1 =
=~ s =
S o LTTH \
S T Y —
l L HH
= Nyl
v =
@5 Tiefe b 12
826 24
A company of the Siedle-Group

BREBEEA (EF) ARRAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



RREEEAR (L FRAF

R}

-~
—-—_
r

c

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx
B2 4#(incl.)
Finbaumass 7 tdz 1x BIERF
. . . - - 2x SR E R4 M5%x12
W1 working position 16
M5 - T B (Z) M BT AL
- oLl 8K AV
[ | e SEREEER
ot |l 77
i 8] (]
o7 | 1 =4 =y
_
He CHI v 1
= BURIN 1
. | |
= 4]
\ gh Tiefe 5 17 168
g 26 _ I8
Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx xxx 6xx
B2 (incl.)
Finbaumass / +dz 1Ix BERF
Sl 10 : — -t - 2x T FE R L E IR 4 M5 12
- i working position [ 1 g
L THEMNEZ) M BEERTIE
4 BX A4
S ] _ o BEREES
Y S ik =
m}jj o o] L g
, \ el | 2 s
| @ e 1 Ul
O\ Sl ACHE v Bl
- T4 ]
‘w’/ =1 [ HH 1
i | ngi
| Yo T
#5 Tiefe 5 g2 10,2
826 24
A company of the Siedle-Group

BEREEEA (EF) ARAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



AW |

RREEEAR (L) FRAF

Einbaumass / tdz
working position g
1 6“'*““*_
iﬁi i NE
) “THH o
u—) OZ} |7 1 ‘l II‘H “ Jl J
" = Ly
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o IA_®5Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z:mz _
3x M3 warking position B
—q— L. 6 = <=}
= | 3
T T o HE =
o] “ciH ig
L[_) Dg_ r 1 ‘\ H‘II ‘F k
" | | o0 m gL (\I“Lo
ST N 1] ";“ Ql sls
= “l HTE Ol 1 Yy
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

BERBEEEAR (%) AFRATE] TEL:400-800-5927 Kk I

www.tifu-auto.com

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx

B4 (incl.)
1Ix BEXRF
22X g R L E IR 4 M5x12

THRAMLEZ) M EERTHG
BR AV
SEREKER

Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B #(incl.)

1x BERF

2x T FE R L E IR 4 M5x12

T2 B(2) A BHERTHL
Bk A
BEREEL

CONIELEC

A company of the Siedle-Group
18017427003



Al

RRH

EEAR (B HRAE

L_Zidz

/ Iidz

Vert-X 37E4

REER

IHEME(Z)

MH-C 3.85mm
MH-C redundant 4.35mm
MH-C2 3.85mm

BTN R R AR FEL

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1

TEREER

THMEEZ)

MH-C 4.95mm
MH-C redundant 5.45mm
MH-C2 4.95mm
RMERATH R K iR

dx +0.25mm
dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

BEREEEAR (E¥) BFREAF TEL:400-800-5927 K T.: 18017427003

www.tifu-auto.com



RERBEFAR (L) FRAF

Vert-X 37E2
ZRER
THEMEZ)
N MH-C 6.45mm
PV | MH-C redundant 5.95mm
] ? MH-C2 6.45mm
A I{/ : | RAMEHATHLAG B A A2 U 4830
—
| r dx +0.25mm
dy +0.25mm
dz +0.5mm
|
; “p"
/////
|
Vert-X 37E
~ 50
Q
~ , oL
Te)
© |
Y |
i T ' |
. $33,8

35
1,5
41
u

CONIELEC

A company of the Siedle-Group

BEEEEAR (L¥E) EFR/ATE TEL:400-800-5927 5K L.: 18017427003

www.tifu-auto.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



